20S-MATH33A-3 Midterm 1

SHREYA CHATTERJEE

TOTAL POINTS

18/25

QUESTION 1

14/4
v +1 pts Correct (a) (True)
v + 1 pts Correct (b) (False)
v +1 pts Correct (c) (True)
v +1 pts Correct (d) (True)

QUESTION 2
23/5

v - 2 pts Wrong row operations. Fixing the row
operations the conclusions (ii and (iii) )would be
right, and (i) almost correct.
Unique solutions if a is different than -4.
Infinitely many solutions if a=-4 and b=8. No

solutions if a=-4 and b is different than 8.

QUESTION 3

35/5
v - 0 pts (a) correct
v - 0 pts (b) correct

QUESTION 4
46/6

v + 2 pts Part 1: The student gets that rank(A) = 2 and

null(A) = 2

v + 2 pts Part 2: The student uses rref(A) to get the

first two columns of A are a basis for Im(A).

v + 2 pts Part 3: The student correctly finds a basis

for ker(A).

+ 0 pts Incorrect

QUESTION 5
50/5

+ 1 pts (i) Correct formula for projection

+ 1 pts (i) Correct answer (1, 2, 3)

Page 1

+ 1 pts (ii) Correct answer (-2, -1, 6)

+ 1 pts (iii) Correct method for finding a v (ex. cross
product, solving system of equations)

+ 1 pts (iii) Correct solution for v (any non-zero
multiple of (-5, 4, -1))
v + 0 pts No points

Incorrect formula for projection...
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14/4
v + 1 pts Correct (a) (True)
v + 1 pts Correct (b) (False)
v + 1 pts Correct (c) (True)
v + 1 pts Correct (d) (True)
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2 3/5
v - 2 pts Wrong row operations. Fixing the row operations the conclusions (ii and (iii) )would be right, and (i)

almost correct.

Unique solutions if a is different than -4. Infinitely many solutions if a=-4 and b=8. No solutions if a=-4 and b
is different than 8.
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35/5
v - 0 pts (a) correct
v - 0 pts (b) correct
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46/6
v + 2 pts Part 1: The student gets that rank(A) = 2 and null(A) = 2
v + 2 pts Part 2: The student uses rref(A) to get the first two columns of A are a basis for Im(A).

v + 2 pts Part 3: The student correctly finds a basis for ker(A).

+ 0 pts Incorrect
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50/5
+ 1 pts (i) Correct formula for projection

+ 1 pts (i) Correct answer (1, 2, 3)

(

(
+ 1 pts (ii) Correct answer (-2, -1, 6)
+ 1 pts (iii) Correct method for finding a v (ex. cross product, solving system of equations)
(

+ 1 pts (iii) Correct solution for v (any non-zero multiple of (-5, 4, -1))

v + 0 pts No points

@ Incorrect formula for projection...
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